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Fever

® B8 I E 6 : > E ± � Cold� Flu� B9 A

Malaria

® A ;8 4 B8 48 ±u �8 ;9 <9 > ;8 4

6 B 7 B E 4 :4 78 P(¬fever | cold,¬flu,¬malaria) = 0.6�

P(¬fever | ¬cold,flu,¬malaria) = 0.2� B9 A

P(¬fever | ¬cold,¬flu,malaria) = 0.1� ? 4 <4 : : R 4 G > @ @ >? ;9 < qT ¿ W

Cold Flu Malaria P(Fever) P(¬Fever)

F F F 0.0 1.0

F F T 0.9 0.1

F T F 0.8 0.2

F T T 0.98 0.02 = 0.2×0.1

T F F 0.4 0.6

T F T 0.94 0.06 = 0.6×0.1

T T F 0.88 0.12 = 0.6×0.2

T T T 0.988 0.012 = 0.6×0.2×0.1
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Cost

� > 7 Cost� ? 4 9 4 4 A : >8 6 4 D ; GI P(Cost | Harvest,Subsidy)u
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;9 : R 4 M C 7 < @ B 7I 4 N B E 6 @ 4u

� > 7 : R ;8 ½ C 4 7I � E B9 A

A B 74 R ; A A 49 V B 7 ; B M @ 48 B9 A 49 C E 4 7 B : ; >9 B E > C9 :8

: > D >E 6 C : ;9 < : R 4 G > @ @ >? ;9 < A ;8 : 7 ; M C : ; >9 ® ;9 B A 46 : R � 78 : G B8 R ; >9 ± W

P(B | j,m) = αP(B, j,m)

= α∑e ∑a P(B,e,a, j,m)

= α∑e ∑a P(B)P(e)P(a | B,e)P(j | a)P(m | a)

= αP(B)∑e P(e)∑a P(a | B,e)P(j | a)P(m | a)

= α〈0.00059224,0.0014919〉

≈ 〈0.284,0.716〉
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P(j|a)
.90

P(m|a)
.70 .01

P(m|    a)

.05
P(j|    a) P(j|a)

.90

P(m|a)
.70 .01

P(m|    a)

.05
P(j|    a)

P(b)
.001

P(e)
.002

P(   e)
.998

P(a|b,e)
.95 .06

P(   a|b,   e)
.05
P(   a|b,e)

.94
P(a|b,   e)
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¿ R 4 ¹ �/10 -� / � 2 ¹� � �,+ � - > G :? > G B D : > 78 f1(X,Y) B9 A

f2(Y,Z)

;8

A 4 �9 4 A MI (f1× f2)(X,Y,Z) = f1(X,Y)f2(Y,Z)u
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fi(X ,Y)

MI D >E 6 C : ;9 < ∑x(f1(x,Y)× . . .× fn(x,Y))u
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4 V ; A 49 D 4 V B 7 ; B M @ 4 ;8 ; 7 74 @ 4 V B9 : : > : R 4 ½ C 4 7I B9 A : R C8 74 E > V B M @ 4u

�

©

� 	 	� xy � 
z � � � 
� � � 
{ | � 
 � } � � 
� � �� � � ~ �� �� �� 
 �� � � � � �

AB

��� � ��� �� 	 
 �� 
 �� � � 	 	� � 
 � �� � �� � � � �� �� � � �� �� � � �'

&

$

%
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P(B | j,m) = αP(B)∑
e

P(e)∑
a

P(a | B,e)P(j | a)P(m | a)

: B J48 6 @ B D4 M > : : >E 	 C6 C8 ;9 < G B D : > 78 B8 G > @ @ >? 8 W

ru fM(A) = 〈P(m | a),P(m | ¬a)〉t

²u fJ(A)

;8 A 4 �9 4 A B9 B @ > < > C8 @ It

³u fA(A,B,E)

;8 : R 74 4 	
A ; E 49 8 ; >9 B @t

svu : R 4 V B 7 ; B M @ 4 A

;8 8 C E E 4 A > C : G 7 > E : R 4 6 7 > A C D : > G : R 48 4 : R 74 4 W
fJ,M(B,E) = ∑

a
(fA(a,B,E)× fJ(a)× fM(a));

Âu E

;8 8 C E E 4 A > C :8 ; E ; @ B 7 @ I B9 A

P(B | j,m) = α fB(B)× fJ,M(B)u
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B 74 D >9 9 4 D :4 A MI 8 4 V 4 7 B @6 B : R8 � V B 7 ; B M @ 4 4 @ ; E ;9 B : ; >9 D B9 R B V 4

4 N 6 >9 49 : ; B @ : ; E 4 B9 A8 6 B D4 D > E 6 @ 4 N ; :I ;9 : R 4 ? > 78 : D B8 4u
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